Tensile Struts

Given friction of the pads on the earth, the tensile struts have very low loads.  For purposes of calculations, I will assume no friction with the ground.

Recall that the summation of moments on the legs had vertical and horizontal components of 4532 lbs.

Assume for simplicity that the struts bolt to the legs at the mid point.  That is the highest load location.  They are actually slightly farther away and slightly less loaded.

At halfway, we double the horizontal component to 9064 lbs.  

We have two struts so each is loaded in tension back to 4532 lbs.  

Assume the horizontal angle of each strut is 30 degrees.  The tensile  load is then 4807 lbs by summation of moments.

Wire used is stainless steel, 1 x 19, 3/8” rated at 16,000 lbs.  The safety factor is over 3.

The turnbuckles are good for at least 50,000 lbs. as they look better at that size.

